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Two bus tickets from city A to B and three tickets from city A to C cost Rs. 77 but three
tickets from city A to B and two tickets from city A to C cost Rs. 73. What are the fares
for cities Band C from A ?

fase TA o P Ut s fehe SR e v A W & i fehel bl Srad < 77 dfe
a3 @ﬁ%ﬁﬁwﬁquﬁ@%ﬁﬁﬁﬁwudbn T e ot 3R
%ﬁ?mfi%mwam%?
A.Rs. 4, Rs. 23

B.Rs. 13, Rs. 17

C.Rs. 15, Rs. 14

D.Rs. 17, Rs. 13
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All relations have been defined with respect to the girl "A" and boy "B’
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Q.1-Pointing to the lady, Ram ( the man )
said , “ she is the daughter in law of my %ﬁ%ﬁ%?ﬁ gU, ITH (YoU)
mother “. Wq\gﬁ R %?

How is the lady related to Ram?

i (1)
(1)Wife
(2)Sister in law (R) y1Ht

(3)Sister (3) 98

(¥) ATATRATR

(4) Either 1 or 2 R

(5) CND
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There are five members in a family, R is brother of T, M is sister of R, K Is
brother of M, W is father of T.

%rhawﬁuﬁm% R, THTHIS 8, M, RBI 818, K, M BT HTS 3, W, T & fudT
I

Q.(1) How many males members are there in a family?
gR¥aR # frds (3U 9ew &2

(A) 2 (B) 4
(C) 3 (D) 3 or 4
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There are five members in a family, R is brother of T, M is sister of R, K Is
brother of M, W is father of T.

%rhawfrtrﬁrw% RTPTHIS G, M,RPIIEAE, K, MBTHTS 8, W, TP fudr
|

\
ommnes
.-
s, e

Q.(2). How many female members are there in a family?

¥.(2) URaR ® fea-t afear agwa 82

(A) 2 (B) 1
(C) 3 (D) None of these
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Q.(3) Sunil is son of Keshav, Keshav’s only sister Simran has a son Maruti
and a daughter Sita. Prem is maternal uncle of maruti. How is Sunil related
to Prem?

PG BT $Iq ﬁlm——r acT A d 3R adt et
gﬁﬁwﬁrmﬁélﬁ-—ﬂa EW%W ¥l

(A) Niece / Hioll/HdTSi ) Nephew / ‘1-I'I\_:IT/‘1-IT'ﬂTrIT
(C) Uncle / 3i®d (D) Aunt / 3fict

)
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Q.(4) Kalyani is mother-in-law of veena who is sister-in-law of Ashok.
Veena has no sibling . Dheeraj Is father of Sandeep who is only brother of
Ashok. How Sandeep is related Kalyani?

T L T St

(A) Son./HET (B) Son-in-law / GTHTG -
(C) Brother/ ‘-I'I% (D) Father / e
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All the six members of a family A, B, C, D, E and F are travelling together.
B is the son of C but C is not the mother of B. A and C are a married
coutprlig.a_ERi%th?lﬁarother of C. D is the cé%%ghter of A. Fis sistqe%ré).f B.

Tdh HHI 96 dqIA,B,C, D, E FUD 9Ty YTAT PR | B, C I

s dfPac s PIHIAGI 8 | AT c [AaIfigd SIS B E, C BT HTS B D,Aﬁa‘é’r%ﬁ,r
BHI I5 5|

Who among the following persons is the son of A?

m%ﬁaﬁqm AT I B2

(A) B (B) D

(C) F ()R=

)
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Q.(6-8) In a family of seven people A, B, C, D, F, J and K. D is sister of C
and only daughter of B, who is spouse of A. B is Grandmother of J & K,
whose mother is F. A has only 2 children .

T @R & URAR T A, B, C, D, F, 1 3R K 8 | D, C 1§81 3R B Bl C e
Sl A% Ufd/uel §, B, JTK B Gt g OB ATFT | A%Wzaﬁgl

Q.(6) Who is the sister of C ?
CHITGA DI G ?

(A) K (B) F

(C)B (D) None of these

)
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Q.(6-8) In a family of seven people A, B, C, D, F, J and K. D is sister of C
and only daughter of B, who is spouse of A. B is Grandmother of J & K,
whose mother is F.

A F IRaR | ) 3R K § | D, C B 98 3R B Pl C e i
Wl A & Ufd/udl B, B, J%?(%EI%%WH?F%IA%WZB g

Q (7 How is D related to F?

9 Halid 82

(A) Daughter /H‘aﬁ (B) Son /YA
(C) Sister-in-law / ATt/ T (D) Daughter-in-law / dg

\
ommnes
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Q.(6-8) In a family of seven people A, B, C, D, F, J and K. D is sister of C
and only daughter of B, who is spouse of A. B is Grandmother of J & K,
whose mother is F.

A @M » IRAR T A, B, C, D, F, J 3R K § | D, C BT I8 3R B Bl adi g
Sl A% Ufd/Udl §, B, ) T K Bl gl g PTHI ATF§ | A%Wzaﬁgl

Q.(8) How is K related B ?

K, B I $H I g2

(A) Grandson / ATdt/aidT (B) Grand-daughter / Afa=/qrdl
(C) CND /WH@WW (D) None of these /Eﬁﬁﬁgﬂﬁ
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Q.(9-10) Hina, Kiran, Shakti, Shree, Lata, and Mita are part of a family In

which there are two married couples. Lata and Mita are siblings. Shree Is

son-in-law of Hina and son of Mita. Shakti is only child of Kiran, who is
randfather of Lata.

, fopvur, =1fa, oft, oraT SfR Hiar v uRaR & o g faarfea e
%ﬁwaﬁwﬂmiﬂ%%%’wﬁ,g%wﬁéﬂmmga%lﬁ,

{01 1 UHHTH a1 &, ) T P ST 2| -
Sﬁ.(Q How is Shree related to Kiran? (20

: q Py Gaed g2
(A) Grandson /tﬁ?ITF-I'I'cﬂ (B) Grand-daughter /tﬁ'cﬁF-Iﬁ?

(C) Daughter-in-law / 9§ (D) None of these / 90 | &Ig ol
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Q.(9-10) Hina, Kiran, Shakti, Shree, Lata, and Mita are part of a family In

which there are two married couples. Lata and Mita are siblings. Shree is

son-in-law of Hina and son of Mita. Shakti is only child of Kiran, who is
randfather of Lata.

fpvur, z1faa, o, ar SN Hidr v uaR & Jex & forgd ) faaifda siie
?ﬁwaﬁ?rﬂmlﬁg%leﬁg%w%&ﬁvéﬂmwgaélﬁ
{01 T UHHT T 2, St o1 & 2TeT 2|

Q}

Q.(10) How is Hina related to Lata? / fg=T, Wﬁ%\ﬁ'\‘lﬁﬁlﬁ%
(A) Grandson /tﬁ?ITF-I'IT'ﬁ (B) Grandmother | STEt/AT

(C) Daughter-in-law / dg (D) None of these /Eﬁﬁaﬁéﬂﬁ
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Q.(11-13) Hira, Karan, Shakil, Shreya, Rita, and Gita are part of a family.
Hira is brother of Karan and father of Shakil and Shreya. Rita and Gita are

randparents of Karan.
%111, &3, Tfpd, 341, ar MR a1 uaR & T &1 §RT BT & TS Ud

ifrar 3R a1 & fuer € 1 Tar o a1 39 F grer ardl €
Q.(11) How is Hira related to Rita ?/ BIRT 31 & &d T&fdd g2

(A) Grandson (B) Grandmother e,
(C) Daughter-in-law (D) None of these
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Q.(11-13) Hira, Karan, Shakil, Shreya, Rita, and Gita are part of a family.
Hira is brother of Karan and father of Shakil and Shreya. Rita and Gita are

randparents of Karan.
%m H3, XMMTpd, 441, aT1 3N a1 uRaR & TS g1 RT HIH & Mg Td

Tifhe 3R 44T & Oar 2 | a1 otk Nrar F= F g1 e 2

Q.(12) How is Shakil related to Karan?/ XIfpd & | $H HalUd g7
(A) Grandson (B) Grandmother
(C) Daughter-in-law (D) Nephew or Niece

)
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Q.(11-13) Hira, Karan, Shakil, Shreya, Rita, and Gita are part of a family.
Hira is brother of Karan and father of Shakil and Shreya. Rita and Gita are

%randparents of Karan.

g7, a1 3R MaT IRAR & T &1 ERTPA &
3R a1 & forar 8 1 Star ok aT e & arer erd) 2 ks

g 13) Who |s gr ndson of Gita If Karan is the female?

P g 4f¢ B Afge 82
(A) Karan (B) Hira
(C) Shakil (D) None of these

)



